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1. The horizontal force P is applied to the cable wrapped around the inner periphery of
the 200 kg spool of cable. The coefficient of static friction between the spool and the
15- degree incline is  4,=0.40. Calculate the friction force F acting on the spool if P is
Just sufficient fo roll the spool up the incline. (20%)

2. BEMERR - FISSRZ I (V-dia) BB M-dia) il - (20%)

3. BEINEFRZR - REERSERTS - ER@QBFFBEEIR ar=8.5MPa
- Rb) FIHENR te=0.8 MPa - A BRI EENESRARFTHE P -
(20%)

4, —EHLEEEEER 23538 bracke)ABCD » SRE P=36 N fEFRHEED »
BT REREE S g, =30 MPa » SRS B/NATEE d -
(20%) : '

5. EEAERZER - S E-JJ3EP:(Moment-Ared Theorems) - SHEEE b 2RI
(S, )Et%!i c ZEHEAFE( A, ) > Bl=constant = (20%)
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